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  2º	
  de	
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Bloque:	
  Demografía	
  y	
  ordenación	
  territorial	
  

Unidad:	
  11.	
  La	
  población	
  española	
  
	
  

Baby	
   Boom:	
   Explosión	
   demográfica	
   que	
   se	
   sucede	
   a	
   una	
   época	
   de	
   recesión.	
   En	
  
España	
  tuvo	
  lugar	
  en	
  los	
  años	
  60	
  y	
  70	
  del	
  siglo	
  XX.	
   

Crecimiento	
   Cero:	
   Tendencia	
   que	
   experimenta	
   la	
   población	
   de	
   un	
   país	
   a	
  
estancarse	
   (no	
   crecer	
   en	
   número	
   o	
   incluso	
   disminuir	
   de	
   efectivos)	
   como	
  
consecuencia	
   de	
   la	
   equiparación	
   entre	
   los	
   nacimientos	
   (tasa	
   de	
   natalidad)	
   y	
   las	
  
defunciones	
  (tasa	
  de	
  mortalidad).	
  Es	
  la	
  situación	
  que	
  atraviesan	
  buena	
  parte	
  de	
  los	
  
países	
   desarrollados	
   a	
   finales	
   del	
   siglo	
   XX	
   (la	
   Europa	
   nórdica)	
   y	
   cuyo	
   indicador	
  
más	
  notable	
  es	
  el	
  envejecimiento	
  de	
   la	
  sociedad	
  y	
   la	
  ausencia/escasez	
  de	
  niños	
  y	
  
jóvenes.	
  	
  

Crecimiento	
   natural	
   o	
   vegetativo:	
   índice	
  que	
  expresa	
   la	
  variación	
  del	
  volumen	
  
de	
   una	
   población	
   durante	
   un	
   periodo	
   de	
   tiempo	
   debido	
   al	
   balance	
   entre	
  
nacimientos	
  y	
  fallecimientos.	
  Se	
  mide	
  mediante	
  las	
  tasas	
  brutas	
  de	
  mortalidad	
  y	
  de	
  
natalidad.	
  

Crecimiento	
   Real:	
   Es	
   el	
   resultado	
   de	
   añadir	
   el	
   saldo	
  migratorio	
   al	
   crecimiento	
  
vegetativo.	
  Esto	
  es,	
  de	
  sumar	
  o	
  restar	
  al	
  crecimiento	
  vegetativo	
  el	
  resultado	
  de	
  la	
  
resta	
  entre	
  inmigración	
  y	
  emigración.	
  

Densidad	
  demográfica:	
  Variable	
  utilizada	
  para	
  medir	
  el	
  grado	
  de	
  ocupación	
  de	
  un	
  
territorio	
  y	
  que	
  resulta	
  de	
  dividir	
  el	
  número	
  de	
  habitantes	
  por	
  la	
  extensión	
  total	
  de	
  
dicho	
   territorio.	
   Su	
   unidad	
   de	
  medida	
   habitual	
   son	
   los	
   habitantes	
   por	
   kilómetro	
  
cuadrado	
   (hab./Km2).	
  El	
  principal	
   riesgo	
  que	
  supone	
  su	
  utilización	
  es	
  que	
  puede	
  
ocultar	
  parte	
  de	
  la	
  información,	
  ya	
  que	
  la	
  distribución	
  de	
  la	
  población	
  no	
  suele	
  ser	
  
homogénea,	
  sino	
  que	
  tiende	
  a	
  la	
  concentración	
  espacial	
  en	
  puntos	
  concretos.	
  

Envejecimiento	
  demográfico:	
  es	
  el	
  aumento	
  de	
  la	
  proporción	
  de	
  mayores	
  de	
  65	
  
años	
  en	
  una	
  población.	
  Para	
  medirlo	
  se	
  utiliza	
  el	
  porcentaje	
  de	
  viejos	
  con	
  relación	
  a	
  
la	
  población	
  total,	
  (un	
  valor	
  en	
  torno	
  al	
  15%	
  indica	
  un	
  claro	
  envejecimiento),	
  o	
  a	
  la	
  
relación	
  viejos/población	
  menor	
  de	
  15	
  años.	
  Viene	
  dado	
  por	
  la	
  disminución	
  de	
  la	
  
natalidad	
   y	
   el	
   aumento	
   de	
   la	
   esperanza	
   de	
   vida.	
   Normalmente	
   está	
   ligado	
   o	
   a	
  
procesos	
  emigratorios	
  o	
  al	
  desarrollo	
  económico.	
  

Esperanza	
   de	
   vida:	
   Número	
   medio	
   de	
   años	
   que	
   se	
   pueden	
   vivir	
   en	
   un	
   país	
  
determinado.	
   Generalmente	
   se	
   calcula	
   en	
   el	
   momento	
   de	
   nacer,	
   aunque	
   con	
  
posterioridad	
   pueden	
   realizarse	
   actualizaciones;	
   por	
   ejemplo,	
   se	
   puede	
   calcular	
  
cuántos	
  años	
  pueden	
  vivir	
   las	
  personas	
  de	
  60	
  años.	
  Es	
  un	
  concepto	
  que	
  siempre	
  
está	
   referido	
   a	
   un	
  momento	
   histórico,	
   con	
   unas	
   características	
   socioeconómicas	
  
estables	
  

Éxodo	
   Rural:	
   Proceso	
   mediante	
   el	
   cual	
   la	
   población	
   de	
   áreas	
   rurales	
   tiende	
   a	
  
emigrar	
  (migración	
  interna)	
  hacia	
  núcleos	
  urbanos	
  próximos	
  y	
  del	
  propio	
  país.	
  Las	
  
ciudades	
  suministran	
  nuevos	
  trabajos,	
  viviendas	
  y	
  están	
  bien	
  dotadas	
  en	
  cuanto	
  a	
  
servicios	
  e	
   infraestructuras,	
  por	
   lo	
  que	
  actúan	
  como	
  auténticos	
  aspiradores	
  de	
   la	
  
población	
   de	
   áreas	
   vecinas,	
   sobre	
   todo	
   las	
   áreas	
   rurales	
   de	
   montaña	
   donde	
   las	
  



actividades	
   primarias	
   continúan	
   siendo	
   el	
   principal	
   motor	
   económico.	
   Este	
  
fenómeno,	
   característico	
   de	
   la	
   segunda	
  mitad	
   del	
   siglo	
   XX	
   en	
   Europa,	
   ha	
   dejado	
  
prácticamente	
   deshabitados	
   territorios	
   enteros	
   –se	
   considera	
   que	
   el	
   desierto	
  
demográfico	
  es	
  un	
  territorio	
  con	
  menos	
  de	
  10	
  habitantes	
  por	
  kilómetro	
  cuadrado	
  -­‐	
  
y	
  provoca	
  la	
  desaparición	
  de	
  numerosos	
  pueblos.	
  

Generación	
   hueca:	
   Está	
   constituida	
   	
   por	
   los	
   entrantes	
   de	
   una	
   pirámide	
   de	
  
población.	
  La	
  generación	
  hueca	
  se	
  refleja	
  entre	
  20	
  y	
  30	
  años	
  más	
  abajo,	
  creando	
  un	
  
nuevo	
  entrante	
  ya	
  que	
  si	
  son	
  menos	
  su	
  siguiente	
  generación	
  también	
  es	
  menor.	
  

Migración:	
  Cambio	
  de	
  residencia,	
  permanente	
  o	
  semipermanente,	
  que	
  realizan	
  un	
  
individuo	
  o	
  un	
  grupo	
  de	
  personas	
  por	
  diferentes	
  motivos	
  (económicos,	
  políticos…),	
  
aunque	
  sobre	
  todo	
  movidos	
  por	
  encontrar	
  un	
  mejor	
  trabajo,	
  conseguir	
  una	
  mayor	
  
calidad	
   de	
   vida	
   y,	
   en	
   ocasiones,	
   garantizar	
   el	
   sustento	
   de	
   sus	
   familiares.	
   Hay	
  
migraciones	
   internas	
   (dentro	
   de	
   las	
   fronteras	
   de	
   un	
  mismo	
   país,	
   como	
   el	
   éxodo	
  
rural)	
   y	
   migraciones	
   externas	
   (implica	
   cambiar	
   de	
   país,	
   cruzar	
   una	
   o	
   varias	
  
fronteras).	
  

Movimientos	
  pendulares:	
  Viajes	
  diarios	
  de	
  ida	
  y	
  vuelta	
  que	
  las	
  personas	
  realizan	
  
para	
   ir	
   a	
   su	
   trabajo,	
   a	
   su	
   colegio…	
   Reciben	
   ese	
   nombre	
   porque	
   esos	
  
desplazamientos	
  son,	
  por	
  su	
  regularidad,	
  similares	
  al	
  movimiento	
  del	
  péndulo	
  de	
  
un	
  reloj.	
  

Población	
   activa:	
   población	
  de	
  16	
  años	
  y	
  más	
  que,	
   en	
  un	
  periodo	
  de	
   referencia	
  
dado,	
   suministra	
   mano	
   de	
   obra	
   para	
   la	
   producción	
   de	
   bienes	
   y	
   servicios	
  
económicos	
  o	
  hace	
  gestiones	
  para	
   incorporarse	
  a	
  dicha	
  producción.	
  La	
  población	
  
activa	
  está	
  ocupada	
  por	
  dos	
  categorías:	
  ocupados	
  y	
  parados.	
  Se	
  diferencia,	
  pues,	
  de	
  
la	
  población	
  potencialmente	
  activa,	
  de	
  los	
  16	
  a	
  los	
  65	
  años.	
  

Relevo	
   generacional:	
   Es	
   la	
   medida	
   que	
   indica	
   si	
   una	
   población	
   está	
  
reemplazándose	
   a	
   sí	
   misma	
   de	
   forma	
   efectiva	
   o	
   no.	
   Este	
   fenómeno	
   se	
   produce	
  
cuando	
  un	
  contingente	
  demográfico	
  es	
  capaz	
  de	
  reemplazar	
  a	
  todos	
  sus	
  miembros	
  
mediante	
  su	
  crecimiento	
  vegetativo,	
  es	
  decir,	
  mediante	
  el	
  balance	
  de	
  nacimientos-­‐
fallecimientos.	
  Por	
  lo	
  general	
  hace	
  falta	
  que	
  cada	
  mujer	
  en	
  edad	
  fértil	
  tenga	
  entre	
  
2,2	
  y	
  2,5	
  hijos	
  para	
  que	
  dicho	
  reemplazo	
  generacional	
  se	
  produzca.	
  

Tasa	
  bruta	
  de	
  Mortalidad:	
  total	
  de	
  defunciones	
  con	
  respecto	
  a	
  todos	
  los	
  efectivos	
  
de	
  población,	
  cualquiera	
  que	
  sea	
  su	
  sexo	
  y	
  edad.	
  Se	
  obtiene	
  dividiendo	
  el	
  número	
  
de	
  muertes	
  habidas	
   en	
  un	
  año	
  por	
   la	
  población	
  media	
   estimada	
  para	
   ese	
  mismo	
  
año.	
  El	
  cociente	
  se	
  multiplica	
  por	
  mil.	
  

Tasa	
   bruta	
   de	
   Natalidad:	
   se	
   calcula	
   relacionando	
   el	
   número	
   de	
   nacimientos	
  
observados	
   en	
   una	
   población	
   durante	
   un	
   año	
   con	
   la	
   población	
   media	
   estimada	
  
para	
   ese	
   año.	
   El	
   cociente	
   se	
  multiplica	
   por	
  mil.	
   Como	
   población	
  media	
   se	
   suele	
  
tomar	
  la	
  contabilizada	
  a	
  primeros	
  de	
  julio	
  del	
  año	
  en	
  cuestión.	
  

Tasa	
   de	
   Fecundidad:	
   Es	
   el	
   número	
   de	
   hijos	
   e	
   hijas	
   que	
   una	
  mujer	
   tiene	
   en	
   su	
  
período	
  fértil.	
  Para	
  que	
  se	
  produzca	
  el	
  reemplazo	
  generacional	
  dicha	
  tasa	
  debe	
  ser	
  
superior	
  a	
  2,2	
  hijos/as.	
  



Tasa	
  de	
  mortalidad	
   infantil:	
  relación	
  entre	
  el	
  número	
  de	
  fallecidos	
  menores	
  de	
  
un	
   año	
   con	
   el	
   total	
   de	
   nacimientos	
   que	
   tiene	
   lugar	
   en	
   un	
   año.	
   El	
   cociente	
   se	
  
multiplica	
  por	
  mil.	
  

Transición	
   demográfica:	
   paso	
   del	
   antiguo	
   sistema	
   demográfico,	
   caracterizado	
  
por	
  elevadas	
  tasas	
  de	
  natalidad	
  y	
  mortalidad,	
  que	
  originaban	
  un	
  lento	
  crecimiento,	
  
a	
  un	
  sistema	
  demográfico	
  moderno	
  de	
  nuevo	
  equilibrio,	
  con	
  un	
  lento	
  crecimiento,	
  
pero	
  ahora	
  debido	
  a	
  unas	
  tasas	
  de	
  natalidad	
  y	
  mortalidad	
  reducidas.	
  Entre	
  ambos	
  
periodos	
  tendría	
  lugar	
  una	
  fase	
  de	
  transición	
  de	
  elevado	
  crecimiento,	
  consecuencia	
  
de	
  un	
  descenso	
  de	
  la	
  mortalidad,	
  anterior	
  al	
  de	
  la	
  natalidad.	
  

	
  


